#

—

oY

=
I
=
P
S+
gl
S
(\)
L
_F}
7
S
H..
\\{_&
e
%
2
B

BB AT A TR A N ]
g TR %_ 1 A& 1 R

(5% ) #HH BT 5 & K EE(O) 4537 (x) ? [A] Amxm4E 2, [B] & mxm4E #,[C] A mxpsE (1] %
mxm B {45 & -
(a) ([A]+ [BDICI=[C] ([A]+ [B]) > (b) [A][I]7'=[A] > (c) [A][A] '=[A]" [A] »

(d) det([A] )= det([A]) * (e) [ BILATl" = [B] " [A]"

f(x)
| 3 *
~ (10%) Find the particular solution : Y + ”x—y = }7; y(1)=-1
_7]:| TEI ., X
(10%) Find the general solution : y" —16 y =19 2et” \/
(20%) ()4 B 1 FAo~ > A% f(x)/& B kA% 3L % 4% 2t (Fourier series) .
1

(15%) #| A Laplace transform A% : Y =3y +2y=4t-8;y(0)=2,y'(0)=7

- 2 < . a = - N\ Ve
(a) 4= B ) } K H A 458 {E (eigenvalue) & 4544 16 & (eigenvector) ? (10% )

3 -2 1
(b) gempA=| 1 10 =11, sk mA~19 (50) >
3 2 1

(© FHAATRETI x1 0 x00 X324 (5%)

3x; —2%y +x3=6

xl +10.XZ —X3 :2

—3x; —2x, +x; =0
— R G X RERBE KR AP KBEEY AI000m’ » EBEKAARAL B EY 5
50m’ > st BEKBOD 2 — [ R 5 AR Tl 2k 5 AR 2 % BK=0.5h" > AN K FBODMEE &
500mg/ m® > .73 A7 45 BODE B £100mg/ m’ » (a)3 48 B P4 S My TR R - ()R E - 1085
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